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Module 1

READING TESTS
Notes on the Marking Scheme

Non-verbal Answers
Follow the mark scheme as set out.
Verbal Answers (English or Target Language)

l. The basic principle of assessment is that candidates should gain credit for what they know, understand and can do. The following guidance should be borne in mind
when marking.

(a)

(b)

(©)
(d)

(e)

Credit should be given for all answers which convey the key idea required intelligibly and without ambiguity. This applies whether the answer is in English
or in the target language. A separate assessment of spelling, punctuation and grammar is not required on these papers because of the nature of the answers.
However, these aspects are an integral part of assessing communication and marks cannot be awarded where errors in spelling, punctuation or grammar lead
to a failure to communicate the required information without ambiguity.

Where a candidate has given alternatives or additional information in answer, the following criteria should be applied:

- if the alternative/addition does not contradict the key idea or make it ambiguous, accept;

- if the alternative/addition contradicts the key idea or makes it ambiguous, reject.

Where numbered lines are given within a question/section of a question, credit should be given for correct answers, no matter which line they appear on.

Where a question has more than one section, a candidate may include as part of the answer to one section the information required to answer another
section. For instance, the information required to answer section (b) might be given as part of the answer to section (a). In such cases, credit should be
given for having answered section (b), provided that no incorrect answer has been given for that section in the correct place.

Where a question or part of a question carries more than one mark, candidates are given credit for all the correct answers they give, even if they have given
incorrect answers as well, except where any of the latter contradicts a correct answer that they have given.

..... /..... means that these are acceptable alternative answers. (.....) means that this information is not needed for full marks.

3. In questions where candidates are asked to name, for example, three types of vegetable sold in the market, only the first three items they write down should be
considered.
4, Accept
- T/F/?
- Target language equivalent as instructed in rubric (eg. V/F/PM)
- v IX/?

a mix and match approach using the above, where the response is clear and unambiguous (e.g. T and v are both used by the candidate).

5. In multiple choice questions where candidates must choose one letter or number, they should automatically get no mark awarded if they give more than one. If the
rubric instructs them to write one letter or number in the box and they do so, but write a second letter or number outside the box too, then the answer in the box
should be considered.

6. No mark scheme can cover all possible answers. When in doubt:

look for the key idea, where this is appropriate.
t.c. = tout court NFP = no further penalty
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READING TEST
FOUNDATION TIER
Question Accept Mark Reject
la Thomas: Skiing / Ski 1
1b Lisa: Go for a walk/ Walking 1 Dog Walking
Ic Heino: My Horse / Riding / Horses 1 Horse alone
1d Ute: Reading / Magazines 1 Magazine in singular
le Simon: Chess 1
1f Gabi: Cycling / Bike Riding 1 Bicycle / Bike
2a 1
Petra H
2b Miriam A 1
2c Lena I 1
2d Karl E 1
e Bernd B 1
of Angela C 1
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Question Accept Mark Reject
3a C |und D Any order 2
3b A |und C Any order 2
3c B |und D Any order )
4a Ein Mofa / von seinem Onkel / von er Onkel 1 incorrect possessive
4b In die Stadt / + fahren 1 Stadt
dc (Ins) Kino / ins Kino gehen / nach (dem / das) Kino / ins Restaurant (credited only 1
once)
4d (Die/Seine) Familie / Schwester / Eltern 1
4o Geld 1 incorrect possessive
Af Ins Restaurant (gehen) / im Restaurant essen 1 Restaurant
S5a F 1 N alone
5b NT 1
5c R 1
5d NT 1
Se R 1
5f F 1

Total: 30 marks
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HIGHER TIER
Question Accept Mark Reject
la Ein Mofa / von seinem Onkel / von er Onkel 1 incorrect possessive
1b In die Stadt / + fahren 1
Ic (Ins) Kino / ins Kino gehen / nach (dem / das) Kino / ins Restaurant (credited only 1
once)
1d (Die/Seine) Familie / Schwester / Eltern 1 incorrect possessive
le Geld 1
If Ins Restaurant (gehen) / im Restaurant essen 1 Restaurant alone
2a F 1 N alone
2b NT 1
2¢ R 1
2d NT 1
2e R 1
2f F 1
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Question Accept Mark Reject
3a A 1
3b C 1
3¢ C D (Any Order) 2
3d C 1
3e B 1
4a Leo ) 1
4b Stefan 1
4c Jan 1

>Accept initial letters
4d Stefan 1
4e Jan 1
4f Leo 1
_/
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Question Accept Mark Reject
Sa Stella
vorher G jetzt A
Warum? .... (Direkt) am Meer / Nicht mit Eltern / Neben das Meer 3
(Sie haben) das Meer gern
Jung und alt zusammen geht nicht
5b Boris
vorher I jetzt B
Warum? .... Vater arbeitslos / Familie weniger Geld 3

Total: 30 marks




